Chapter 6 HKAS 17 Leases

Answer – Exercise 1

The contracted lease term is only for half of the useful life of the machine and there is no strong likelihood that the company will exercise the option in four years’ time, because the option is priced at fair value, not a discount. Thus the risks and rewards of ownership have not passed to the lessee and these lease should be treated as an operating lease.

Answer – Exercise 2
(a)

Whether a lease is a finance lease or an operating lease depends on the substance of the transaction rather than the legal form of the contract. [1 mark]

The classification of leases adopted in HKAS 17 is based on the extent to which risks and rewards incidental to ownership of a leased asset lie with the lessor or the lessee.

(i)
Risks include technological obsolescence and decline in return or value of assets due to changing economic conditions. [1 mark]

(ii)
Rewards include the future return from using the asset and of gain from appreciation in value. [1 mark]

(b)

The following are indicators, as given by HKAS 17, which would normally lead to a lease being classified as a finance lease:

(i)
the lease transfers ownership of the asset to the lessee by the end of the lease term;

(ii)
the lessee has the option to purchase the asset at a bargain price and it seems likely that, at the inception of the lease, this option will be exercised;

(iii)
the lease term is for the major part of the useful life of the asset; and at the inception of the lease, the present value of the minimum lease payments is greater than, or equal to substantially all of, the fair value of the leased asset;

(iv)
if the lessee can cancel the lease any losses associated with the cancellation are borne by the lessee;

(v)
gains or losses from the fluctuation in the fair value of the residual fall to the lessee (e.g. in the form of a rent rebate equaling most of the sales proceeds at the end of the lease);

(vi)
the lessee has the ability to continue the lease for a secondary period at a rent which is substantially lower than market rent; and

(vii)
the leased assets are of a specialised nature such that only the lessee can use them without major modifications being made.


[1 mark each, total 7 marks]

(c)

	Year
	Principal (opening)
	Repayment
	Finance charge
	Principal repaid
	Principal (closing)
	[Marks]

	
	$
	$
	$
	$
	$
	

	1 Jan 2011
	10,000
	3,998
	0
	3,998
	6,002
	[1]

	31 Dec 2011
	6,002
	2,500
	720
	1,780
	4,222
	[1]

	31 Dec 2012
	4,222
	2,500
	507
	1,993
	2,229
	[1]

	31 Dec 2013
	2,229
	2,500
	271
	2,229
	-
	[1]

	
	
	11,498
	1,498
	10,000
	
	[1]


(d) Journal entries in East Limited’s book:

	
	
	Dr ($)
	Cr ($)
	[Marks]

	1 Jan 2011
	Leased machinery
	10,000
	
	[0.5]

	
	Bank
	
	3,998
	[0.5]

	
	Lease obligation
	
	6,002
	[0.5]

	
	
	
	
	

	31 Dec 2011
	Lease obligation
	1,780
	
	[0.5]

	
	Interest expense
	720
	
	[0.5]

	
	Bank
	
	2,500
	[0.5]

	
	
	
	
	

	31 Dec 2011
	Depreciation expense
	3,333
	
	[1]

	
	Accumulated depreciation
	
	3,333
	[0.5]

	
	
	
	
	

	31 Dec 2012
	Lease obligation
	1,993
	
	[0.5]

	
	Interest expense
	507
	
	[0.5]

	
	Bank
	
	2,500
	[0.5]

	
	
	
	
	

	31 Dec 2012
	Depreciation expense
	3,333
	
	[0.5]

	
	Accumulated depreciation
	
	3,333
	[0.5]


(e)

East Limited

Statement of financial position (extracts) as at 31 December 2011
	Non-current assets
	$
	[Marks]

	Machinery held under finance lease
	6,667
	[1]

	Current liabilities
	
	

	Obligation under finance lease
	1,993
	[1]

	Long-term liabilities
	
	

	Obligation under finance lease
	2,229
	[1]


Answer – Exercise 3
(a)
In accordance with HKAS 17 “Leases”, the lease contract is a finance lease.
[2 marks].
At least three indicators supporting this conclusion:
· The lease term of four years represents the whole economic useful life;

· The present value of the minimum lease payments of $174,340 is equal to the fair value of the equipment; and

· The lease contract is a non-cancelable contract.
[1 mark for each suggested point above and any other valid point, maximum 3 marks]


(5 marks)
(b) Actuarial method

	Year
	Opening balance
	Annual payment
	Sub-total
	Finance charges
	Closing balance

	
	$
	$
	$
	$
	$

	2012
	174,340
	(50,000)
	124,340
	12,434
	136,774

	2013
	136,774
	(50,000)
	86,774
	8,677
	95,451

	2014
	95,451
	(50,000)
	45,451
	4,549
	50,000

	2015
	50,000
	(50,000)
	-
	-
	-


(c) Sum-of-the-digit method
	Year
	Opening balance
	Annual payment
	Sub-total
	Finance charges
	Closing balance

	
	$
	$
	$
	$
	$

	2012
	174,340
	(50,000)
	124,340
	12,830
	137,170

	2013
	137,170
	(50,000)
	87,170
	8,553
	95,723

	2014
	95,723
	(50,000)
	45,723
	4,277
	50,000

	2015
	50,000
	(50,000)
	-
	-
	-


Total finance charges = $50,000 x 4 – $174,340 = $25,660
	Year
	Digits
	Proportion allocated
	Finance charge

	
	
	
	$

	2012
	3
	3/6 x 25,660
	13,830

	2013
	2
	2/6 x 25,660
	8,553

	2014
	1
	1/6 x 25,660
	4,277

	2015
	0
	-
	-

	
	6
	
	25,660


Answer – Exercise 4
(a)

The annual rental charge will be $880,000. Boro will pay $8,800,000 over the ten years of the lease. (There is one rent-free year and Boro receives $200,000 towards its relocation costs.)

(b)

At the end of Year 1 there will be an accrual of $1,080,000 in the statement of financial position. This is because Boro will have charged $880,000, but paid nothing and received $200,000 of incentives. The chart below shows how the accrual gets used up over the life of the lease.

	
	A
	B
	A – B
	
	

	Year
	Cash payment
	Charge
	Difference
	Cumulative difference
	

	
	$000
	$000
	$000
	$000
	

	1
	(200)
	880
	– 1,080
	– 1,080
	Accrual

	2
	1,000
	880
	+120
	– 960
	

	3
	1,000
	880
	+120
	– 840
	

	4
	1,000
	880
	+120
	– 720
	

	5
	1,000
	880
	+120
	– 600
	

	6
	1,000
	880
	+120
	– 480
	

	7
	1,000
	880
	+120
	– 360
	

	8
	1,000
	880
	+120
	– 240
	

	9
	1,000
	880
	+120
	– 120
	

	10
	1,000
	880
	+120
	Nil
	

	
	8,800
	8,800
	
	
	

	
	Cash flow statement
	Income statement
	
	Statement of financial position
	


(c)

Extracts from the notes to the balance sheet at the end of Year 1 Boro is committed to making the following minimum lease payments under non-cancellable operating lease agreements:

	
	$

	Within one year
	1,000,000

	Between two to five years
	4,000,000

	After five years
	4,000,000

	
	9,000,000


Examination Style Questions

Answer 1

Income statement for the year ended 31 December 2011 (Extract)
	
	$

	Depreciation (20,000/4)
	5,000

	Finance costs
	2,074


Statement of financial position as at 31 December 2011 (Extract)

	
	$

	Non-current assets
	

	Plant and equipment held on finance lease (20,000 – 15,000)
	15,000

	
	

	Non-current liabilities
	

	Finance lease liabilities (W1)
	14,786

	
	

	Current liabilities
	

	Finance lease liabilities (W1) (16,924 – 14,786)
	2,138


W1 Payment schedule
	Year
	Opening balance
	Finance charge (11%)
	Sub-total
	Annual Repayment
	Closing balance

	
	$
	$
	$
	$
	$

	2011
	18,850 (W2)
	2,074
	20,924
	(4,000)
	16,924

	2012
	16,924
	1,862
	18,786
	(4,000)
	14,786


W2 Opening balance for 2011 = 20,000 – 1,150 = 18,850

Answer 2
Income statement (extract) for the year ended 31 December 2010
	
	$

	Depreciation ($61,570/10)
	6,157

	Operating lease rentals (2 x 5,000)
	10,000

	Finance cost (W1)
	1,171


Statement of financial position (extract) as at 31 December 2010
	Non-current assets
	$

	Property, plant and equipment ($61,570 – $6,157)
	55,413

	
	

	Non-current liabilities
	

	Finance lease liability (W1)
	51,033

	
	

	Current liabilities
	

	Finance lease liabilities (59,741 – 51,033)
	8,708


W1
	Period
	Opening balance
	Repayment
	Sub-total
	Finance charges (2%)
	Closing balance

	
	$
	$
	$
	$
	$

	31.12.2010
	61,570
	(3,000)
	58,570
	1,171
	59,741

	31.3.2011
	59,741
	(3,000)
	56,741
	1,135
	57,876

	30.6.2011
	57,876
	(3,000)
	54,876
	1,098
	55,974

	30.9.2011
	55,974
	(3,000)
	52,974
	1,059
	54,033

	31.12.2011
	54,033
	(3,000)
	51,033
	
	


Answer 3

The first task is to decide what sort of lease the asset is held under. This is a finance lease because it transfers substantially all the risks and rewards of ownership to the lessee, as shown by the length of the lease and its cost:
· The asset's useful life is five years (as shown by the 20% straight line depreciation policy) and the lease is also for five years. Therefore the asset is being held for the whole of its useful life.

· The minimum lease payments are $60,000, spread over four years as payments are made in advance. The present value of these payments at an 8% discount rate is $51,745, which is almost the same as the asset's fair value.
The asset is capitalised and depreciated over its five year useful life, and the obligation to make lease payments is recognised as a liability.
Income statement (extract) for the year ended 30 September 2012

	
	$

	Depreciation ($52,000 x 20%)
	10,400

	Finance costs (800 + 1,872 (W2))
	2,672


Statement of financial position (extract) as at 30 September 2012

	Non-current assets
	$

	Assets held under finance lease (W1)
	33,800

	
	

	Non-current liabilities
	

	Finance lease liability (W2)
	21,696

	
	

	Current liabilities
	

	Finance lease liabilities (33,072 – 21,696)
	11,376


W1 Carrying value of asset

	
	$

	1 Jan 2011: Fair value of leased asset
	52,000

	Less: Depreciation to 30 September 2011 (52,000 x 20% x 9/12)
	(7,800)

	Depreciation to 30 September 2012 (52,000 x 20%)
	(10,400)

	Carrying value 30 September 2012
	33,800


W2 Payment schedule

	Period
	Opening balance
	Repayment at 1 Oct
	Sub-total
	Finance charges (8%)
	Closing balance

	
	$
	$
	$
	$
	$

	30.9.2011
	52,000
	(12,000)
	40,000
	2,400 (W3)
	42,400

	31.12.2011
	42,400
	-
	42,400
	800 (W4)
	43,200

	30.9.2012
	43,200
	(12,000)
	31,200
	1,872 (W5)
	33,072

	31.12.2012
	33,072
	-
	33,072
	624 (W6)
	33,696

	30.9.2013
	33,969
	(12,000)
	21,696
	
	


W3 Finance charge to 30.9.2011 = 40,000 x 8% x 9/12 = 2,400

W4 Finance charge to 31.12.2011 = 40,000 x 8% x 3/12 = 800

W5 Finance charge to 30.9.2012 = 31,200 x 8% x 9/12 = 1,872

W6 Finance charge to 31.12.2011 = 31,200 x 8% x 3/12 = 624

Answer 4
(a)

Risks

· The possibilities of losses from idle capacity or technological obsolescence.

· Variations in return because of changing economic conditions

Rewards

· Expectation of profitable operation over the asset’s economic life.

· Gain from appreciation in value or realization of a residual value.

[Note: Any other valid points are acceptable.]


(1 mark for any point, total 4 marks)

(b)

The above lease is a finance lease due to the following:

(i)
The lease transfers ownership to the lessee by the end of the lease term as it is mentioned that the lessee will most likely exercise the option to purchase the leased asset at the end of the lease term.

(ii)
The lease term of four years is for the major part of the economic life of the leased asset, which is estimated to be five years.

(iii)
The present value of the minimum lease payments, i.e. $550,471 (W1), amounts to approximately 95% of all of the fair value of the leased asset (i.e. $580,000) at the inception of the lease.

(iv)
Gain or losses from the fluctuation in the fair value of the residual value accrue to the lessee.

(v)
The lessee is responsible for the repair, maintenance and insurance of the asset.

Based on the above, it can be concluded that Machinery Ltd has assumed substantial risks and rewards incidental to the ownership of the leased equipment at the inception of the lease contract.



(1 mark for any point, total 4 marks)

(c)

	
	
	Dr
	Cr
	Marks

	In Machinery’s books
	
	$
	$
	

	1 Jan 2008
	Leased equipment (W1)
	550,471
	
	[1]

	
	Lease obligation
	
	550,471
	[0.5]

	
	To record the lease capitalization
	
	
	[0.5]

	
	Lease obligation
	145,000
	
	[1]

	
	Bank
	
	145,000
	[0.5]

	
	To record the rental payment
	
	
	[0.5]

	
	
	
	
	

	31 Dec. 2008
	Finance charge (W2)
	48,656
	
	[1]

	
	Accrued interest
	
	48,656
	[0.5]

	
	To record the accrued interest
	
	
	

	
	Depreciation ($550,471 / 5)
	110,094
	
	[0.5]

	
	Accumulated depreciation
	
	110,094
	[0.5]

	
	To provide depreciation for the leased equipment
	




(7 marks)

(d)

Machinery Ltd

Statement of comprehensive income

For the year ended 31 December 2008 (extracts)

	
	$
	Marks

	Finance charge
	48,656
	[0.5]

	Depreciation
	110,094
	[0.5]


Machinery Ltd

Statement of financial position

As at 31 December 2008 (extracts)

	Non-current assets
	$
	Marks

	Equipment on finance lease (550,471 – 110,094)
	440,377
	[1]

	
	
	

	Current liabilities
	
	

	Obligation under finance lease (405,471 – 309,127) (W2)
	96,344
	[1]

	Accrued interest
	48,656
	[1]

	
	
	

	Non-current liabilities
	
	

	Obligation under finance lease (W2)
	309,127
	[1]


Mass Ltd

Statement of comprehensive income

For the year ended 31 December 2008 (extracts)

	
	$
	Marks

	Interest earned on finance lease (W2)
	48,656
	[1]


Statement of financial position as at 31 December 2008 (extracts)

	Non-current assets
	$
	Marks

	Lease receivable (W2)
	454,127
	[1]




(7 marks)

(e)

The motivation to account for a finance lease as an operating lease is to achieve off-balancing financing, that means to keep the finance liability off a company’s financial statement. The beauty of doing so is to window dress (i.e. to reduce) the gearing ratio so that the company’s financial position will be perceived as a lower financial risk.



(3 marks)

Workings:

W1 PV of minimum lease payment

$(145,000 + 145,000 x 0.8929 + 145,000 x 0.7972 + 145,000 x 0.7118 + 80,000 x 0.6355 + 10,000 x 0.6355) = $550,471
W2 Lease amortization schedule

	Year
	Capital sum at beginning of period ($)
	Lease payment ($)
	Sub-total ($)
	Finance charge ($)
	Capital sum at end of period ($)

	2008
	550,471
	145,000
	405,471
	48,656
	454,127

	2009
	454,127
	145,000
	309,127
	37,095
	346,222

	2010
	346,222
	145,000
	201,222
	24,146
	225,368

	2011
	225,368
	145,000
	80,368
	9,644
	90,012


Answer 5
(a)

The Framework states that in order to be useful, information must be reliable and the two main components of reliability are freedom from material error and faithful representation. The Framework describes faithful representation as where the financial statements (or other information) have the characteristic that they faithfully represent the transactions and other events that have occurred. Thus a statement of financial position should faithfully represent transactions that result in assets, liabilities and equity of an entity. Some would refer to this as showing a true and fair view. An essential element of faithful representation is the application of the concept of substance over form.
This means that assets and liabilities as shown in the statement of financial position exist, are assets or liabilities of the entity and are shown at the correct amount, in accordance with the stated accounting policies of the entity. For instance, it may seem that a property shown at original cost when its market value is twice that amount is not faithfully represented, but if the disclosed accounting policy of the entity is not to revalue its properties, users will know what they are looking at and can adjust accordingly.
The most obvious examples of faithful representation not being adhered to involve off-balance-sheet finance transactions, such as sale and leaseback, where secured loans are disguised as the sale of assets. This keeps borrowing out of the statement of financial position and avoids any consequent impact on gearing. The accounting scandals of the past decade revealed numerous off-balance-sheet schemes and underlined the importance of faithful representation.
(b)(i)
The finance director’s comment that the ROCE would improve, based on the agreement being classified as an operating lease is correct (but see below). Over the life of the lease the reported profit is not affected by the lease being designated as an operating or finance lease, but the statement of financial position is. This is because the depreciation and finance costs charged on a finance lease would equal (over the full life of the lease) what would be charged as lease rentals if it were classed as an operating lease instead. However, classed as an operating lease, there would not be a leased asset or lease obligation recorded in the statement of financial position; whereas there would be if it were a finance lease or an outright purchase. Thus capital employed under an operating lease would be lower leading to a higher (more favourable) ROCE. HKAS 17 Leases defines a finance lease as one which transfers to the lessee substantially all the risks and rewards incidental to ownership (an application of the principle of substance over form). In this case, as the asset will be used by Fino for four years (its entire useful life) and then be scrapped, it is almost certain to require classification as a finance lease. Thus the finance director’s comments are unlikely to be valid.
(b)(ii)

Operating lease
Income statement (extract)

	
	$

	cost of sales (machine rental) (100,000 x 6/12)
	50,000


Statement of financial position (extract)

	Current assets
	$

	Prepayment (100,000 x 6/12)
	50,000


Finance lease

Income statement (extract)

	
	$

	Depreciation (350,000/4 x 6/12)
	43,750

	Finance costs (W1)
	12,500


Statement of financial position (extract)

	Non-current assets
	$

	Leased plant (350,000 – 43,750)
	306,250

	
	

	Non-current liabilities
	

	Finance lease liability (W1)
	175,000

	
	

	Current liabilities
	

	Financial lease liability (262,500 – 175,000)
	87,500


W1 Payment schedule

	Period
	Opening balance
	Repayment at 1 Apr
	Sub-total
	Finance charges (10%)
	Closing balance

	
	$
	$
	$
	$
	$

	30.9.2007
	350,000
	(100,000)
	250,000
	12,500 (W2)
	262,500

	31.3.2008
	262,500
	-
	262,500
	12,500
	275,000

	30.9.2008
	275,000
	(100,000)
	175,000
	
	


W2 Finance charges to 30.9.2007 = 250,000 x 10% x 6/12 = 12,500
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